stEEEE 2 OB

af B
SRAY BURER

October 16, 2017


https://goo.gl/678wGM

B3 1(print X, ELE) - -
BE2Q=ENEEELH) , BELE) - -
XUENK (3FE (7075 LDFNOHIKR] ) - - -
BEL (4FE 17075 LDRNOEYIRL] ) - -
f5l, B, $I7N—F> 1 (5= MM 6 = I88%k ) - - -
f5l, EAK, YIN—F> 2 (5 E MM 6 = B8 ) - - -
HEAR (7 & TEAXE
[XFFDER] ) -
RAV% 1 (10F TRAV51) ---
KAV 2 (10F TRAV51) ---
RA4v4 3 (11 %
#i&tk (C,Fortran) (12 &
TJ7AIAEA (13F 774V AEH] , BHEER) -
xeH-TUr—N, BHEE - -

10/31(K) ,11/6

XFRERL 5] ) -
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LT — b

#include <stdio.h>

#include <stdlib.h>

#include <time.h>

int main(void)

{

int no;

int ans;

srand( (unsigned int)time( NULL ) );

printf ("0 A5 10 FTOHFEFBL THTTL LI WD),
printf ("FARE:");

scanf ("%d" ,&no) ;

ans=rand()%10;

if (no>ans)

printf ("\a BRTY, HIPLNETVTT, %d TL7%, \n",ans);
else if(no<ans)

printf ("\a BETY, HIPLAKEVTT, %d TL7%, \n",ans);
else if(no>10)

printf("\a HETT., TNIL 10 KW KEWETY, %d TL7%, \n",ans);
else

printf ("E'>¥ I1\n");

return O;

}

R EHRE2IR5T, printf("\a");
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2= (B C, p.7)
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7075 LADEREE, RIE

fortran90 5> 7L — M
PROGRAM test

IMPLICIT NONE
END PROGRAM test

R :test 37OV T LLTHERE, Fortran IAXF/NXFOXFI%L,
ERIEXRHY (FHEIENIF),

| N\

CoOTF>7TL— Nl
#include <stdio.h>

int main(void)

{

printf("hello world\n");
return O;

}
fEF:quickrun.
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PURESE (C, Fortran #if)

Fortran: Mod(a,b) C: a%b

RE

Fortran: a=b**5

C: a=pow(b,5);
a=bxbxbxbxb; (T 5 5AELY)
//include <math.h>HHE

| N\

KAX

Fortran:d=a-b

C: d=a-b;

d-=a; (d=d-a; ERL)

e=f=d-=a; (e & £ [CALCENAD)

g=(e=a+b) *(f=a-b)

.
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%Yk L:Fortran90/95

##YiRL (Fortran90/95)
DO HIHZEHE=11E, KiE, ED (BBOBEIE 1)

BYBRBLEFTTZ7O075 4

END DO

DO I=0,10,2
WRITE(*,*) °I=",T
END DO
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BYiRL:for X (C E5
for ( #MIHAERTE,; RESM,; BHUIEL{
BYRLETIZ IO I A

}

Bl 1
for(i=0;i<100;i++){
printf ("i=)d\n",i);

} )
5] 2
for(i=1;i<=10;i++){

printf ("i=}d\n",i);
}

.
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for (i=0;i<100;i+=2){
printf ("i=Yd\n",i);
}

5 4
for(i=1;i<1000000;i*=2){
printf ("i=)d\n",i);

| L'J
A\

5l 5

for (double i=0;i<10.1;x+=0.1){
printf ("i=Yf\n",i);

}

BYRT IO I LD 1 TOE EIF{ 5B,
for(i=1;i<1000000;i*=2) printf("i=%d\n",i);

.
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%KU L :while St (C |:||:u:|
while (=) {

BYBRLETTZIOT T A

; J

i=1;

while (i<1000000){
printf ("i=)d\n",i);
ix=2;

}
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# V)R L:do while X (C =
do{

BYRLETTZITO7S 4

Ywhile (54

i=1;

do{

printf ("i=¥d\n",i);
ix=2;

Fwhile (1i<1000000) ;
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1 RES: EEHE (RF)
2 RTEES: ESIE (1T&ES, SIES)

=:h
= 0R

/XTEEEZJ_J Eagj% [IIJ\\%]
2 RES: BEAIE [1THS, JIHES]

BRIDEE
Fortran: Z# (R=DLIR)
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]
III
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2 @B LR—bERBDNT R b

R 1-3D3BZD2&EBATLR—ME LT Webclass HRE LA
LY,
REDINTFAKNIBAM CSE 1 SZELHEER/— M 2 ABOREL S,

B 1.UTD7O07546% CHLLIE Fortran90 TR &,
M,N ORRANEERDZ TOTF b

QO M#%ENTE->LERVE RET B,

Q@ RNODEE, N HABRRAAKE,

Q@ RAODEE, MIZT N EZRKRA (M=N), N IZ R =X A (N=R),
Q BWICR %,

BUTH—LEHMRE L, AIZIE, ERIBETROLAWVERICT S, i
BLTHLWS—AICLTHEL,
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2@BLR—+h

BiRE 3: 7047 2L% CHLLIE Fortran90 TERE &£,

Q TODEHEFEHMAATH, =, &, M@, RYEHETZTOI T L,

Q HERFOEFAE I XFTFORITLTRRTZ A5 4,

©Q ZHRAEFRLALL, RDLTLESWY, THhIFTFTRNTT] &ERTT
37093 4,
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